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and

The objective is to connect dots in the grid horizontally or vertically so 
that the lines form a continous path (slitherlink) with no loose ends or 
branches. the number inside a dotted square indicate how many of its 4 
sides are part of the path. 

6 by 6 Slitherlink (Medium No. 33 to 36)

0606 slitherlink  Medium 33

0606 slitherlink  Medium 35 0606 slitherlink  Medium 36

0606 slitherlink  Medium 34
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answers

0606 slitherlink  Medium 33

0606 slitherlink  Medium 35 0606 slitherlink  Medium 36

0606 slitherlink  Medium 34
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